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SECTION FOUR: Questions 41-50 (10 points) TRANSFORMATIONS
Here are some sentences for you to transform. For each one, complete the second sentence so that it means the same
as the first. Use no more than 3 words including the word in bold given. (A contracted form, for example ‘don’t’ = 1
word). Write the missing word(s) in the space provided.

Example: | prefer playing tennis to playing squash. more
| like playing tennis .....MORE THAN.........ccccccesevueeunsueunnnnn.playing squash.

41, Jenny’s exam results were better than anyone else s in the class. the

Jenny’s exam results ’*—;)QJ-K {4e Lﬁﬁ S l’ in the class.

42, “Put your toys away!” Mum told Samuel. ‘ to
TEE S S T : >
S o
Mum told Samuel l/'() 'ﬂU\ = I/\ [ toys away.
43 Michael is too short to play volleyball. isn’t

LY
michael 13" € |l b'\m«g}/\ to playvolleyball.
44. There weren’t many chlldren at the party a

Only _ &< "FQA«/— CLu/di—L/\ came to the party.
\

45.  Youcan't parkin this area! i - ST . not
Youre_ Nt cllndo A ”‘ % . paik iﬁ tl;is ér;a. ‘: ‘

46. Sally ended her relationship with Fr;”c;zﬂ:t week. | up
Sally and Fred Laroa - - /\_/{3 last week.

47. Someone has stolen my I-Phone! has
My I-Phone L\ﬂvg &Zf\ <l en !

48. zlf jt doesn’ t ram we gl go for a plcmc Unless

Ay b

S , we'll go for a picnic.

49. She left the train at Victoria Station. got

she Oy ot 5[[ / q&t Cﬂ/\kd’thetrainatVictoriastation.
N ) h = W e q

50. The journey from Manchester to London lasts three hours. It

W t {/5\ KQ/& three hours to get from Manchester to London.




